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HARYANA SSC MOCK TEST - 62 (SOLUTION)

1. (D) 26. (A) 51. (A) 76. (B)
2. (A) 27. (C) 52. (C) 77. (B)
3. (B) 28. (C) 53. (B) 78. (D)
4. (C) 29. (A) 54. (B) 79. (A)
S. (B) 30. (A) 55. (C) 80. (B)
6. (C) 31. (B) 56. (A) 81. (C)
7. (A) 32. (B) 57. (C) 82. (D)
8. (©) 33. (A) 58. (B) 83. (A)
9. (A) 34. (C) 59. (B) 84. (B)
10. (B) 35. (A) 60. (B) 85. (D)
11. (D) 36. (C) 61. (B) 86. (A)
12. (C) 37. (B) 62. (A) 87. (A)
13. (D) 38. (B) 63. (D) 88. (B)
14. (A) 39. (B) 64. (A 89. (A)
15. (C) 40. (A) 65. (C) 90. (B)
16. (A) 41. (B) 66. (D) 91. (D)
17. (D) 42. (A) 67. (D) 92. (D)
18. (D) 43. (D) 68. (A) 93. (C)
19. (A) 44. (C) 69. (C) 94. (C)
20. (B) 45. (D) 70. (B) 95. (A)
21. (B) 46. (B) 71. (D) 96. (D)
22. (C) 47. (B) 72.  (A) 97. (D)
23. (C) 48. (B) 73. (A) 98. (C)
24. (A) 49. (A) 74. (B) 99. (B)
25. (C) 50. (C) 75. (A) 100. (A)
Explanation: 48. (B)
41. (B) Except it others need specified group size. ' NB
42. (A) W ) E N
43. (D) INDIA: (3, 2) means 3 vowels and 2
) conson;nts.) Similarly in WOMEN 2 #0m ¢0m w ’ E
vowels and 3 consonent. A Eaet e S
4. UNDE Rr?I‘ AND 49.(A) In a simple year day of first date and
e [V B the last date is same thus answer will
]Z_)>E, 15>S, §>I‘, ?I‘, AT":‘: ﬁ ©) be Friday.

50. (C) Because 'Electron' and Nucleus exist in

45.(D)H 0T E L atom.

8 +15+20 +5 +12=60-5 (No. of letters) =55 | ©1. (A) Suppose the Ist number is x
Then, 2nd number = 100 — x

SoB O R E -~ HCF xLCM = Ist number x 2nd
2 +15+18 +5 =40-4=36

number
(No. of letters) 5 x 495 = x(100 - x)
in BORE = X%~ 100x + 2475 = 0
46. (B) =>x=450r x=155
47. (B) aabbec/aaabbbcec/aaaa Required difference = 55 - 45 = 10
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52. (C) Let the four numbers be x, 2x, 3x and 4x. Total time taken = (6 + 1) = 7 hours
Then, 56.(A) - Smen x 6 =10 women X 5
X+ 2x+3x+4x=20 = 3 men = 5 women
10x=20 Now.
=x=2 5 women + 3 men
Ist number + 4th number = x + 4x _
= 5 women + 5 women
= 5x [+ 3 men = 5 women]
=5x2=10 '10
= men
53. (B) Let the SP of each article = ¥ x. wore .
Then -~ 10 women complete the work in 5 days.
CP of 12 articles = ¥ 8 x x = T 8x Time ltaker;by ° o ©omento
SP of 12 articles = ¥ 12 x x= ¥ 12x complete the work = 5 days .
57. (C) Single Equivalent discount ( for successive
% profit = SPC_PCP % 100 discount of 10% and 30%)
30x10 o
12x — 8x =10+ 30- 100 =37%
T e 1
58. (B) Let the three numbers be x, y and z.
4
= _x x 100 = 50% Then,
8x x+y+z =60 x3=180
54. (B) Total age of 12 players = 12 x 25 Again,
=300 yrs
Total age including captain's age = 13 x 26 x= 1 (y+ 2
= 338 yrs 4
Age of the captain = 338 — 300 =x +4x=180
= 38 years 59. (B) Let the cost price of the goods be ¥ 100.
55. (C) Part filled by A and B in 1 hour Marked price = ¥ 125
_i+i_5+4_i_i SP=90%0f 125=3F 112.5
12 15 60 60 20 % profit = (112.5 - 100)% = 12.5%
Part filled by A & C in the next 1 hour 60. (B) Let r, and r, be the rates of interest from
1 . 1 5+3_ 8 2 two different sources.
12720 60 60 15 ATQ,
Part filled in 2 hours SI, -8, =13.50
_i+£_m_£ :1500><r1><3_1500><r2><3 = 13.50
20 15 60 60 100 100 '
Part filled in 6 hours 1500x 3
17 51 = W[r1 - r2] =13.50
=3 X — = —
60 60
Remaining part _ 13.50x100 1350 0.3%
&P ~NhThT T1500x3 4500 - U7°
1 51 9 3
"7 60 60 20 180
60 60 20 = x= = 36
3
" 50 part is filled in 1 hour. First number =36

test and question number to 8860330003

Note:- If you face any problem regarding result or marks scored, please )
contact 9|313111777

( Note:- If your opinion differs regarding any answer, please message the mocB
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